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MTH 111, Exam 2
Ayman Badawi
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QUESTION 1. (12 points). Find 3’ and do not simplify

Hy=5+vz+3z+1
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(i) y = (2z° + 6z — 4)°
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(iii) y = In(5z + 12) + o(32%+73)
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(iv) y = In((3z +2)*(Tz + 2)°)
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QUESTION 2. (4 points). L€t f(:L‘) k(3$2—|-:17-— 1)and £'(9) =
Find f'(-2).
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QUESTION 3. (8 points). A s ow v = XY 2
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QUESTION 4. (8 points). L ﬁﬁ_kq . (Lh(Q\\ . Te)n 20 fecelx
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QUESTION 5. (6 points). Let f(z) = In(2z — 5) + 2G>~ + 2z + 1. Find the equation of the tangent line
to the curve of f(z) whenz = 3.
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QUESTION 6. (8 points). Let f(z) = —z° + 27z — 12.
(i) Find the sign of f'(z).
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(ii) Stare at (i), for what values of = does f(z) increase?
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(iii) Stare at (i), for what values of = does f(z) decrease?
J - (’b; '% E k) 3 ?) / oD E l////v'
(iv) Stare at (i), roughly, sketch the curve of f(z).
'Oqu MmN T "% \\ /,,//\"\_»\ //‘.
\ \ 3 \,/ \\ u
O¢ca MmN



